Tect u3 enriieckor je3uKka Ha NPHjEMHOM HCIIATY Y (PHIIOJOIIKHM F’MMHA3HjaMa B 0/le/belHMa
jynm 2013.

PEHIEMA:

I READ THE TEXT AND CHOOSE THE CORRECT ANSWER BY CIRCLING THE
LETTER IN FRONT OF IT. (5 x 2 points = 10 points)

1. d) 2.¢) 3.a) 4.¢) 5.b)

II READ THE TEXT. THEN CIRCLE THE LETTER (a, b, ¢ or d) IN FRONT OF THE
ANSWER WHICH YOU THINK BEST FITS EACH SPACE. (20 x 1 point = 20 points)

l.ey  2.a) 3.b) 4¢ 5d 6b) 7Tc¢  8a)  9.b) 100
I1.b)  12.d) 13.a) 14.¢) 15.d) 16.c) 17a) 18b) 19.¢)  20.d)

1T READ THE TEXT FIRST. THEN WRITE THE CORRECT FORM OF THE WORD
IN BRACKETS IN THE SAME LINE. WRITE ONLY ONE WORD ON EACH LINE.
(10 x 1 point = 10 points)

1) thinking/thought  2) development/developing  3) identifies 4) correctly 5) different
6) intelligent 7) interested 8) really 9) educate 10) disappear

IV READ THE TEXT BELOW AND THINK OF THE WORD WHICH BEST FITS EACH GAP.
USE ONLY ONE WORD IN EACH GAP. FOLLOW THE EXAMPLE (0).
(15 x 1 point = 15 points)

1) has 2) of 3) of 4) me 5)all 6) our 7) to 8) do 9) because
10) what 11) to 12) the/this/that/their 13) why 14) of 15)a

V' READ THE TEXT FIRST. THEN FILL IN THE APPROPRIATE FORM / TENSE OF THE
VERB IN BRACKETS IN THE ACTIVE OR PASSIVE VOICE. PAY ATTENTION TO
THE WORD ORDER. DO NOT ADD ANY OTHER WORDS. (22 x 2 points = 44 points)

1) knows  2) have 3)seems  4) to protect 5) will (can/could) this cause 6) to walk 7) go

8) happens 9) (will/can/could/may/might) become 10) means 11) allowing 12) think

13) worry  14) have ever been 15) to grow up 16) protect (be protecting) 17) to make

18) playing 19) watching 20) don’t (can’t) feel 21) go 22) to look

V1 COMPLETE THE SECOND SENTENCE SO AS TO GET THE SAME MEANING AS IN
THE FIRST SENTENCE. (5x1 point = 5 points)

| putting (up) ......

2ho. v RIHE wisns

3. ...fact....

. S )| P

5. ... both Sam and ....




VII WRITE THE FOLLOWING SENTENCES IN THE PASSIVE VOICE:
(4x2 point = 8 points)

1. Belgrade was given a spectacular concert by Depeche Mode.

A spectacular concert was given in Belgrade by Depeche Mode (by Depeche Mode in Belgrade).
2. Other bees are led to the source of food by worker bees in funny ways.

(Other bees are led by worker bees to the source of food in funny ways.)
3. The visitors were shown (by them) how orangutans communicate.
4. Children are taught lots of useful things by parents (by parents lots of useful things).

Lots of useful things are taught to children by parents.

VIII WRITE THE FOLLOWING SENTENCES USING REPORTED SPEECH:
(4x2 point= 8 pts.)
1. The man warns Linda not to go near the bees if she has used a perfume.
2. Grandma asks John if he slept well in his good old bed.
3. The boy asks Mr Shumaker how Inda chooses symbols on that screen.
The boy asks Mr Shumaker how symbols are chosen by Inda on that screen (on that screen by Inda).
4. Miss Clark (says that she) hopes that Andy knows the answer to her question.

Yxynuo: 120 noena




CHCTEM BOJIOBAIbA: YKVITHO MOI'VRE: 120 TIOEHA

HAIIOMEHA: [lpuxsarajy ce npasuiia o6a npasonuca (GpuTaHCKOT W aMepUyKOr) €HIJIECKOT je3nKa.

Vi

VII

Cako nuTamwe HocH 2 noeHa; moryhux 5 x 2 = 10 noena.

Caako nutawe HocH | noen; moryhux 20 x 1 =20 noena.

Caako nutawe HocH | moex; moryhux 10 x 1 = 10 noena.

Baxna Hanomena:

VKONMUKO KaHAMAAT MOTPeLly y MHcakby HEKOT OAroBopa, 3a uctu ao6uja 0 noena.
[TpuxBarajy ce 0OAroBOpH MUCaHW BEITMKHUM CJIOBHMA.

[TpuxBaTa ce 0AroBOp KOjU je HANWCaH MajluM CIIOBOM MaKO je ped Ha MoYeTKYy peyeHuLe.

Caako nuratbe Hocu | noew; moryhux 15 x 1 = 15 noena.

Baxna HanomeHa:

VYKONMKO KaHAMAAT MOrpeLly y Mucakby HeKOr 0AroBopa, 3a uctu noduja 0 noena.
[TpuxBaTtajy ce 0AroBOpH MUCAHW BETMKUM CIIOBUMA.

[IprxBaTa ce 0AroBOp KOJH je HANKCAH MAUM CIOBOM HAKO je pey Ha MOYETKY peyeHHIIe.

CBako nuTame HocH 2 noeHa; moryhux 22 x 2 = 44 noena.

BasxHe Hanomene:

-VKOMMKO KaHWAAT MOrPeLHoO HAlKIIE HeNPABUIIAH TJIAros WM HaMuile Norpelal HacTaBak
(-d ymecto —ed u 06paTHO; -s ymecTo —es u 06paTHO) — 106uja 0 noexa.

-YKONMKO KaHAMAAT He U3BPLUM NPOMEHY Yy Nucatby (UIeKTHBHOI HACTaBKa Ha Kpajy riarojia
(yaBajame cyriacHuka, npomena —y y -i) — nobuja 0 noena.

-YKONNKO KaHAMIAT a Ta4yaH riarojcku obnuk/Bpeme, alin M30CTaBU UM nepmytyje 1-2 cnosa
y KOPEHOM Jienly Heke 01 peun u3 3arpaae (Hnp.: belive, beleive, hapening)— npusnaje ce | noex.

Caako nuratbe Hocu | noen; moryhux 5 x 1 =5 noena.

Basxue nanomene:

YKONMKO KaHAKIAT MOrpeLln y nucatby HEKOT OAroBopa, 3a etk 1o6uja 0 noena.
IMpuxBarajy ce onumje noHyhexe y 3arpajiu y Kibydy, OCHM y ciyuajy ja KaHAnAaT y
MPENMUCHBatbY TIOTITYHO H30CTaBH YJIaH/6poj Tamo rie je HeONXOoaaH.

Cpako nuTame HocH 2 noena; moryhux 4 x 2 = 8 noena.

Baixne nanomene:

-AKO KaHIMJAT NOrpeLIHO HATULIE 1aron y npeaukaTy — Bake Hanomexe 3a BexOy 6p. V.
-YKOJIMKO KaHAMAAT HaNuLIe TadaH 00JIMK NackBa, ali M30CTABHU YJ1aH WK NIPUJIOT Y CBOM
OJrOBOPY MM NMOTPEeOHOT BPILIMOLIA pajibe WK MPEATIor Ha Kpajy peuetuiie, 106uja | noex.
-YKOJINKO KaHAMaT Hanuile Taqyad o0JUK rnacusa, ajln ynorpedu norpeiian rnpeuior 3a
BpLIKOLA paibe, 1o6uja | noew.

-YKOMMKO KaHIMAAT Hanuiue Ta4dad oOIMK nackBa, ainu 3aMeHH NOKa3HU npuies oapehernm
4IaHOM, MPU3HAJY ce 2 NOoCHa 3a TY PEUCHHLLY.

-YKOJNIMKO KaHaMaaT Haruilie Tauyan 00JIMK MacuBa, ajli HarnpaByu CUTHY OMALIKY Y MPEnUCHBalbY
HeKe CropeaHe peun (M30CTaBu WK YABOjM HEKO CIIOBO) - MPU3Hajy ce 2 noeHa.



Vil

Ceako nuTame HocH 2 noeHa; moryhux 4 x 2 = 8 noexa.
Baxwne nanomene:
~AKO KaHAMIaT NOrPeLHO HaNKiie FIaros y NpeAuKaTy — Baxe HaroMeHe 3a Bexby 6p. V.
-YKO/IMKO KaHAMAaT TayHO ypaau TpachopMaLujy y HHAHPEKTHH rOBOP, ank H30CTaBH HIIN
TNOTPEUIHO HANHILE 33/1aTH NPUCBOJHU MPUIEB/3aMeHuLLy (HNp. ca anocTpohoM) UM IPUCBOjHH
TPUIEB 3aMEHM OAPelEHNM YNaHOM, HTH He TPOMEHH MOKa3Hy 3aMeHULLy y ojroBapajyhu
00auK, 106uja 1 noew.

-YKOIIMKO KaHAMAAT Ta4HO ypaJy TpaHcOpMaLujy NpeanKaTa y MHMPEKTHH FOBOp, Al
YNOTpeOH IHYHY 3aMEHMLLY WJIH IPHCBOJHH MPUIEB KOjU HUKAKO HE O/Ir0BAPajy OPHIHHAJIHO]
peyeHuun, gobuja 0 noexna 3a Ty peueHully.

-VKOJINKO KaHIMAAT HaNpaBH CUTHY OMALLKY Y PENHCHBakbY HEKe CriopeaHe peun (M30CTaBH
WJIM YBOjH HEKO CII0BO) - NpU3Hajy ce 2 noeHa.




